Best model for HELP J142944.606+343347.729 at z = 1.07 x?>=1.04

OPTx?=0.5 IRx?=3.22 threshold (OPT IR)=16.56 [um]

102 3 Stellar attenuated
o T Stellar unattenuated
] — Dust emissi
10! 4 M thih  AGN emission
] = Model spectrum
1 ® Model fluxes
100 3 M oObserved fluxes
> 19-1
= 107" 3
E
310724
w E L SN, m
I
-3 |
10 E ﬁ/*f!
] i >
-4
107" 5 / m R
X ] :
-5 \\
do3 \
g - =f= (Obs-Mod)/Obs
° ]
@ 0____ - LHEd-Hd -4 < - I
(O] 1 /
2 ]
EU -1 MR | T T T T T T
& 10° 10! 102 103 104

Observed wavelength [um]



